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(i) =f usw efer ¥
(i) W99 wHHiE 1 @rSH'cﬁmgﬁwama;gﬁ%.
(iii) 995 ik 6'@723ffﬂiﬁﬁiﬁﬁ:mmfaq7rq%|
(iv) ﬁm&mﬁm@%ﬁam,
Instructions :
(i) All questions are compulsory,

(i) Question Nos. 1 10 5 are objectiye type questions.

(iii) Internal options are given in Queg Numbers 6 to 23.
On

(iv) Draw neat and clean labelleq diagr perever required.
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1 aﬁﬁmﬂ'—mﬂﬁqﬁm:
(i) uﬁs@mﬂﬁmﬁ&wmw—m%z
(a) =1 3. 9. 640 — 546

(b) 476 — 550 = 7.
(©) 1777 — 1855 ¢ q.

(d) = 3. g. 770 — 850
(i) Bg P(3.2) i 0(2.-3) % 9w & oh %
@) 7.09 s (b) 7.07 W

() 721 W (d) 1.41

(il) e sgue ax? + by 4 o BN AE B BT Ty T
(a) m T (b) T YET
(c) RACEE) (d) = T
(iv) e i gm GE+hyte =0 g QX+ b,y +e, =0 gy
TS W BT ¥, W oo ’ : .
a b
(a) —Laz_L by S_b ¢
a, b2 )’—_‘Z‘_:;T
a, b Cl
(¢) ';I__:_f}_=¢_ (d) Ej—-:-il_.if_l_
3 ) 2 a, 1)2 Cy '
V) oo FNETT v’ + DX +e
T Tretfires sy B ofy
@) 52 4 4a4c >0 (b)Y 1 l
—4aqc = ()
€ 52 _4,c50 (d) 2 466 <
~4ac <
(vi) A, p 1o RIS
3 2 Iy W
(a) 28
(b) o5
() 33 (d) ~4g]
2
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Choose the correct option and write it :

(i) The time-period of famous Greek mathematician Thelas is :-

(a) B. C. 640 — 546 (b) 476 - 550 B. C.

() 1777 - 1855 B. C. (d) 770 — 850 B. C.
(i1) Distance between point P (3, 2) and 0(2,-3) is :

(a) 7.09 (approx.)

(b) 7.07 (approx.)
(c) 7.21 (approx.)

(dy 141 (appro:_(.)

(1i1) Quadratic polynomial ax2 +bx+c, the graph of found on graph paper -

(a) straight line (b) parallel line

(¢) parabolas (d) curve line

(iv) The pair of linear equations a,x + le’+ ¢,=0 and ay bzy fng )
dependent and consistent, if

(a) —L=—L ® 9 _bh_a
92 bz b[ a] a]
a b c

() —L=—2=_L @ S b4
ay b2 el 02 bz Cz

(v) No real roots of quadratic €Quation .2 +bx+c=0, if

(a) b2 +4ac>0 (b) 52 _4ac="0

(¢) b2 —4ac>0 (d) b2 _dac<0.

(vi) 11t term of the A, p, . -3, - ]

3’ 2: ..... is -
28
(@) (b) 2
(e) -38
(d) 1
H432
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1xg:-
2 o = @ g st

T

(i) feEmh wie ax® + bx+c=0 aﬁ%‘ﬁﬂ?ﬁ%@%ﬂﬁﬁ?

(i) w= 98 7, 13, 19, ..., 205 9w e e Tl

(iii) ey Prowr wwew @ %

(“)%WT'E"?'W%WW,WWmﬁﬁB ¥, % T 9
P TR BT 3

WM V3w _ dem ¥

(vi)mx%sagqaf’(x)ffﬂ?rﬁmmﬁ

T WEe &
Fill in the blanks - :

(M Quadratic formula —— is solving  for qu

adratje €quation
)
ax* + bx +¢ = 0.

(ii) .'l'h(: Number of terms in the A, p, 2 7,

’ o \.
('ii,i) Al triangles are Similar. '

. se ; X "4
(iv) Lengmy of an arc of @ “*Clor op , Circle wigh radius ,.

and angja
\\.
(v) 3 isa . Mimber, 5

: is
with degree measure ©

. .q] A0
(vi) P(x) is a Pﬂlynom'a'_

X, 1h . .:I I
€ highegt Power gf X in p (x) ;
% IS caljed

4
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ﬁmﬁﬁ@ﬁﬁfw/mﬁ‘ﬁf@q:

1x6=6
(i) %ﬁvﬁﬁmmmﬁamﬁ%@aﬁaﬁ“m%mmmﬁwa@aﬁ
% 99 B T A o w3
(ii) mmuwﬁwwﬁmmmm% WWK—H%I.
(iii) %@Wﬁaﬁ%maﬁﬁ%ﬁw%lm%r
(iv) @Wﬁ%ﬁ@wgﬁéﬁmﬁaﬁﬁmaﬁ%ﬁméﬁ%@mﬁ%l . =

(v) us Fidea ger & oiftesar 1 o6 &

(vi)Hﬁ“ﬁiﬁwiﬁrﬂﬁ%mﬁ%mrﬁﬁaﬁﬁm%l ¢

Write True / False in the following :

]
The height or length of an object or the distance between two distant
objects can be determined with (, help of trigonometric ratios, —

)

(11)  The mean is that value among the Obseryations which occurs most ofian

f the

(i) ‘The sum’ of 1 probabilijes of aj the clementary events of an
experiment is l

v line intersecting a cj :
(1\) A i _. £ rcle In ty (3] pﬁims is Cﬂ“ed a S]a]']l secant line,
(v) Probability of an event which ; - @0

(vi) Volume of any hemispherc g 1

—

.3
3 ]

14,

ere is a radius of cirele.
e
» Wi
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uuuuu

we AE HEnEY

I — WA
(l) SECEB_]

(iii) Frags w1 g

(iv) oriie o e

(V) sin?25° 4 cos2 050

(vi) tan@

Mateh (he correct column :
Colump — AT

(1)  sec?g -1

(i) tan 30e

(i) Aregy of 5 sector

(1v) Volume

o hemisphere
(V) sip2 250

+ cog2 25°

(vi) tang

(b)

(c)

(d)
(e)

()
(2)

(h)

(a)
(b)

(c)

(d)

360 * 2m,.

LT

Ix6=¢
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EEERT I = | g ¥ owEe fafea

0 99 % =t frg & afomn Ry

(i) mw%w@g%%ﬁwwagﬁrﬁ@m
(iii)ﬁs@lA.P.éanEﬁvammﬁww%m
(V) “enureqm wngaiimar gy & HY feifga
(V) g9 & ‘g “T@”a?rtrﬁmm%rf@qr

(vi) 'F'E:“EITHEIEQH ax

1x6=6

Svbxtc ¥ s w AR 2
Write the answer in one word / sentence of each

(i) Define the point of contact in the
(i1)  Write the formula of

circle.

area of segment of g circle.

of finding n!" terp of an A.P,
(iv) Write the statement of “RB

(ili) Write the [ormula

(v) Define **Sccant line” of a circle.

(Vi) Write the formula of product of Zeros from quadfﬂffc‘polynomfa]
ax® +bx +c.

vl
qE AP H W A we fafay |
4, 10. 16. 22,

v

Write next two terms of given AP

4, 10, 16, 22, ...

%ﬁf‘zgqumq;ﬁaﬁmwl .
c’_ ]

34 4+ 32 + 30 + + 10 \ LI

. \

Find the sum of he {ol[owingz\ 'E :

M4 +324+30+ + 10 r

e AN LS 00 ONROY R i b e



7 T APOR @ wmieli PO sit PR WX WA G L SR F Reg g

9T & wm EF || OR ¥ wafy -

PE=4cm, QE=4.5cm, PF=8cm, RF=9 cm

£ and F are points on the sides PO and PR respectively of APOR .

State whether EF [| OR - when

PE=4cm, OF =45 cm, PF=8cm, RF=9 ¢m

9 [ OR
TE T AR POI|RS ¥, & ez ey

APOQ ~ ASOR

In figure, if PO || RS. prove

R

Q S

3ol (-5, 7) ey (-1.3) & dhy

Iind the distance between the Pojin

mﬁ""DR

(~5

Determine i yhe points (1.5) (2 3 (=2

-

that APOQ“QSOR

y~] :
ing (~2 ) ‘ﬁt‘ﬂ R
)
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IE T T E'n°rﬁ.=|11 fred fae fog P (2, -3) silx 0(10,y) & g
17{ 7‘& Iom

Find the values of » for which the distance between the points P (2,-3)
and O (10,y) is 10 units.

%?Aaaﬁ‘émiﬁatﬁiﬁﬁq,ﬁﬁ/!BWﬂﬁWW%.ﬁﬂwaﬁ'(z,*@
€ Tu B & frdsre ()

Find the coordinates of g

point 4 where AB is the diameter of a cirele whose
center is (2. -3)

and coordinates of g are (1, 4),

10 =ie wma frgw 4se 3 LB =gaptr gy AB=dcem, BC=3 oy, B, o
SInA ¥R cos 4 w1 um g I |
I in rmhluans_le (riangle ABC, 2B = 90° and AB =4 m, BC=3 cm
then find the value of sin 4 and cos 4.
S/ OR
A A6 i
5in 60° cos 30° - 5in 30° cos 6(°
Find the valye of :
sin 60° cos 30° + 5in 30° cos 6(°
1 T ”ﬁﬁﬁmﬁmwm%ﬁ&rﬁw@ﬁ\ﬂémf%@ﬁw
KRGS
Prove that the langents drawn al the ends of a diameter of , cirele are
parallel.
— T oR
U g O 9w g gy W Ty
. a1 O @y
2599 ¥ mﬁ‘.ﬁrﬁmm~qﬁm§?—4ﬁa . R
. aﬂﬁTQ|
From a point O. the lcllglh of
2
the distance of @ p from cey ¢ lﬁnm“l o a L";k 'Sd Z4em and
circle. ter 18 25 cn. Find the radius of the
100 | / T-0659 C
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mﬁwmwamamﬁmﬁfﬂ?aﬁmﬂmm@ 2
12 lsiﬁﬁrﬂ?@@amﬁmw%mﬁMﬁsﬁm%mﬂmfm
aﬁjaﬁﬁgwﬂ?“ﬁ%'

is tied to a peg at one corner of g SQuare 'shaped grass field of
rse ,

zéfdholr: m by means of a 5m long rope. I'ind he area of that part of the

siae 1o

field in which the horse can graze.

/[ OR

ﬁm?l%aﬁfﬁiﬁrwmﬁﬁ:ﬂﬁmwﬁwﬂaﬁﬁm%l
TG B TEE T DR

In a circle of radius 21 em, an arc subtends an angle of 60° 4 the center.
Find the length of the arc.

13 mmﬁﬁmmm%‘ﬁfﬁa&i‘m~

= 2
(i) 4%a€fﬁmmﬁﬁaﬁgﬁwﬁn
(ii) 4€ru‘raﬁwm€ﬁtﬁimﬁrm

We throw 3 die once. I'ind that

(1) What is the probability of Elling

1 Numbey gredter than 49
(1) What is the probability of Selting

Number Icés_sl than 49

() o g 7@ 2m -
ell s
One card ig drawn from a well Shy

ed Ly
e . he ¢ de(.‘.]'
calculate 1he probability that : d winp B 52._ Cards,
(1) be an yee
(i)

fil
not be gp ace

.m 19
! T-
T 0659 C "|["m
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14 o wo f5d wed ¥7 omive weM W WRIEW w1 wm Regar wr 27 2
What is an impossible event? What is the probability of an impossible
event?

15

16

s [ OR
M P(E)=095 %, @ “E 78 & wisar @ %7

If P(E)=0.95, then what is the probability of “not E»9

wEsl 6 @it 20 @1 H.CF. =g it |

Find the H.C.F: of the numbers 6 and 20.

’meqﬁmztwm_"l el

Find a quadratic polynomjal, the ¢

M of Leros is 4 and the product of
zeros is 1. : .

100 | / T-0659 C

17 ., AR, er.o,



I

a b Y o @iy efiT
wie g % e — — ot L % g
17 fy=fafad Jebidf ay b, Cy
: I
aay 5w W ¥ a ewT ®
Sx—4y+8=0
Tx+6y-9=0
9 4 T followi air of linear equations
% atios —,— and —- for the fo owing p
Find the ratios a, " b, c, |
and say that it is consistent or inconsistent.
Sx-4y+8=0
Tx+6y-9=
{4 | OR
Frefofas e THEHET g @y e Gl
Solve the {‘ollowing pair of linear €quations:
X+y=14
X—y=4

18 qﬁ%wﬁﬁaaﬁwﬁsw—ﬁﬁ%ﬁ%ﬂﬁfﬁwé,%%
ﬁmmwmﬁoﬂ%lﬁmﬂﬁwwml
The angle of elevation of the top of

a lower fr
1525 m aw

1Y from the foot of the towey ;

[ QR

‘T&'?ﬁmﬁﬁﬁwznﬁaﬁm%ﬁmww%, e
ﬁr@"{%smqaé‘mmqm:%“ﬁf“"’” %"ﬂmﬂ:"r%‘" TR iy T 3y
A point on (he ground, the angleg of @

o Cvatioy Of the
I - 1€ 1y »
A lransmission tower lixed at P of
60° fespectively, Find the

From
ol

a 20 n
- m hig) e
height of the lower. =1 builgiy

are 450 and
/ T—ﬂﬁSB_C
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ST TvEES fafy g 8, 9 e 25 @ H.CF. wd L.C.M. =g @i 3

Find the L.C.M. and H.C.F. of 8. 9 and 25 by applying the prime factorization
method.

@ | OR
goisy % 74/5 ws emitha T E

Prove that 7«,@ 1s irrational number.

20 witg Hie B % - 2x = (-2)(3-x) ww R wlmTor

Check whether that x2—2x=(—2)(3—x) is a quadratic equation,

T | OR
feama wd@ 632 -x—2=0 ¥ T e R

Find the roots of the quadratic Cquation 6x° —x—2=0.

12 ~ 9 2

The table below shows the ¢
a locality. Find the mean (|

aily ex

penditure on food of 25 households in

200 -250{250 - 300|300 — 350

__-_‘_---—-—_.
12 >

I

100 | / T-0659_C
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ﬁqﬁmmzzsmﬁw&mwm(ﬁﬁﬁ)aﬁmﬁ%
SUERO H AGEH WA BN S @ |

e w (G H) [ 0-20 | 20— 40 40-60 | 60— 80 80— 100 (100 — 120

ANERA 10 35 52 61

38 29

The following data gives the information on the observed lifetimes (in hours)

of 225 electrical components. Determine the mode lifetimes of the components.

Lifetimes (in hours) | 0-20| 20-40 40-60 [60—-80 |80 — 100 {100 — 120

Frequency 10 35 52 61 38 29

22 ’cﬁqzﬁﬁﬁ‘rmwgrqaﬁwa%\ﬁm:
3X+4y=10 T 2x-2y =2

Solve the pair of linear equations -
o
3x+4y =10 and 2x—-2y=2 '

S | OR £h
ﬁﬁiﬂﬁaﬁm%aﬁﬁmﬁﬂ9ilmmaﬂ=ﬁﬂm_ﬁwgﬁwﬁ N
T WEw w0 ¥ we e 79 B,

|
The sum of the digits of a two digl! mber i 0.

AISD ni . '.
> 0e lithey ty;
. . " MeVer: = S ny
1S twice the number obtained bY eVQl‘Slng the mber

1g1ts, F;
Number., L C1Blts r“'ld the

@ / T-0659 14

gy LT mmmm v e~



100

T HT T g v A % o w3, R @t Rt s s

T BN 19X FHw 2 wErs 14 mm ¥ 8T THe = 5 mm ¥ g geE

A medicine capsule is in the shape of a cylinder with two hemispheres stuck
to each of its ends. The length of the entire capsule is 14 mm and the diameter

of the capsule is 3 mm. Find the surface area.
s [ OR

TR FHEAST FATH & ST B U T W g ¥, Rrad @ @ % i | st
TE T BYE | EA B R 15 x 10 Ay x 3.5 3 ¥ 1wl 7y @Y Frowr 0.5 a9y
& o e LAFW T QU FEE F ey & emae s S

A pen stand made of wood is in the shape of a cuboid with four conical

depressions to hold pens. The dimensions of the cuboid are 15 cm by

10 cm
by 3.5 cm. The radius of each of

the depressions is 0.5 cm and the depth is

[.4 em. Find the volume of wood iy the entire stand

-—-""-__—
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